Client: Sunday Times

Agency: panelbase.com

Universe: Adults resident in Scotland

Methodology: Online panel

Sample size: 1004

Fieldwork dates: 11 - 21 January 2013

Weighting: All the results were weighted by age, sex, household tenure and SEG, and filtered on 8-10 likely to
vote in an election tomorrow. Respondents who voted in the 2011 Holyrood election were weighted back to the

actual election result.

Further enquiries: ivork@panelbase.com



JIN:F4108w4 Scottish Sunday Times - Political Traker - (wave 4)

Base: 817 Total Q1. Please select your gender. Gender x Age Q8. Do you agree that Scotland should be an
indenendent countrv?
Male Female Male x 18-34 Male x 35-54 Male x 55+ Female x 18-34 Female x 35-54  Female x 55+ Yes, I agree No, I do not agree Undecided
Total 817 385 432 91 156 139 91 167 174 281 382 153
(825) (401) (424) (90) (167) (144) (105) (171) (148) (263) (413) (148)

Q1. Please select your gender.

385 385
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Q2. Which of these age groups
do you fit into?

18-24 47 19 29 19
6% 5% 7% 21%
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24% 23% 25%

Q3. Did you vote in Scotland in
the 2011 Scottish

Parliamentary Election? If so, ~ SNP 335 173 163 39 73 60 28 66 68 208 54 73
who did you vote for with your 41% 45% 38% 43% 47% 43% 31% 40% 39% 74% 14% 48%
Conservative 105 49 56 7 18 24 6 22 28 8 91 6

13% 13% 13% 8% 12% 17% 7% 13% 16% 3% 24% 4%
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Base: 817 Total Q1. Please select your gender. Gender x Age Q8. Do you agree that Scotland should be an
indenendent countrv?
Male Female Male x 18-34 Male x 35-54 Male x 55+ Female x 18-34 Female x 35-54  Female x 55+ Yes, I agree No, I do not agree Undecided
Total 817 385 432 91 156 139 91 167 174 281 382 153
(825) (401) (424) (90) (167) (144) (105) (171) (148) (263) (413) (148)

Q4. And who did you vote for
with your regional vote?

N
@

335 175 160 43 70 62 25 55 80 197 58
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Conservative 95 46 49 10 18 18 5 23 5 85
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Other 42 18 25 1 5 12 2 15 8 19 24
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Did not vote 43 10 33 6 15 6 10
5% 3% 8% 6% 2% <1% 16% 7% 4% 3% 6%
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Q5. If Scottish Parliamentary
Elections were to be held

tomorrow, how likely would you 10 - Certain to Vote 610 282 328
be to vote in that election?

119 153 225 287
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Base: 817 Total Q1. Please select your gender. Gender x Age Q8. Do you agree that Scotland should be an
indenendent countrv?
Male Female Male x 18-34 Male x 35-54 Male x 55+ Female x 18-34 Female x 35-54  Female x 55+ Yes, I agree No, I do not agree Undecided
Total 817 385 432 91 156 139 91 167 174 281 382 153
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you vote for with your
constituency vote? SNP 323 173 150 41 67 65 26 61 64 222 32 69
40% 45% 35% 45% 43% 47% 28% 36% 37% 79% 8% 45%

Conservative 90 42 48 8 15 19 11 15 23 6 83
11% 11% 11% 9% 10% 14% 12% 9% 13% 2% 22%

A
i
B

21 7 14 3 4
3% 2% 3% 3% 2%

A
"
Lo
N
©
w
-
-
~
N
Sw

Will not vote

o
© o

<1% <1% o o 1%

o
o
o
o
o

<1%

Q6. (excluding will not vote and
undecided)

SNP 323 173 150 41 67 65 26 61 64 222 32 69
45% 49% 41% 48% 47% 52% 34% 44% 41% 80% 10% 60%

Conservative 920 42 48 8 15 19 11 15 23 6 83 1
13% 12% 13% 10% 11% 15% 14% 11% 15% 2% 25% <1%

21 7 14 3 4 0 2 9 3 11 7 3
3% 2% 4% 3% 3% <1% 2% 7% 2% 4% 2% 3%
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Q7. And who would you vote
for with your regional vote?

%)

NP 313 164 149 37 64 63 29 55 65 205 36
38% 43% 34% 40% 41% 45% 32% 33% 37% 73% 9% 47
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Conservative 83 37 46 10 13 14 10 14 22 4 77
10% 10% 11% 11% 8% 10% 11% 8% 13% 2% 20%
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Liberal Democrats 33 16 17 6 2 7 3 8 5 5 25
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Q7. (excluding will not vote and
undecided)
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313 164 149 37 64 63 29 55 65 205 36
44% 47% 40% 44% 46% 52% 39% 40% 41% 75% 11%
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Conservative 83 37 46 10 13 14 10 14 22 4 77
12% 11% 13% 12% 9% 12% 14% 10% 14% 2% 24%
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Liberal Democrats
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As you may know, the Scottish government
intends to hold a referendum next year on
Scotland becoming a country independent from  Yes, I agree 281 157 123 36 72
the rest of the United Kingdom. The question on 34% 41% 29% 39% 46%
the ballot is expected to be as below. How would
you vote in this referendum?

Do you agree that Scotland should be an Undecided
independent country?
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Base: 817 Total Q1. Please select your gender. Gender x Age Q8. Do you agree that Scotland should be an
indenendent countrv?
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Q13a. Which of the following
claims, if any, do you think are
correct? ...An independent Correct 487 214 273 52 78 83 69 91 113 122 289 7
Scotland would not 60% 56% 63% 57% 50% 60% 75% 54% 65% 44% 76% 48%
automatically become a
member of the European Union

N

Don't know 185 93 92 25 43 25 18 39 35 71 61 53
23% 24% 21% 28% 28% 18% 20% 24% 20% 25% 16% 35%

Q13a. Which of the following
claims, if any, do you think are

correct? ...An independent Correct 152 73 79 18 26 30 19 22 37 23 108 19

Scotland would have to join the 19% 19% 18% 19% 17% 22% 21% 13% 21% 8% 28% 13%

currency, rather than be

allowed to keep the pound Don't know 238 102 136 29 43 30 32 41 62 47 128 62
29% 27% 31% 32% 28% 22% 35% 25% 36% 17% 34% 41%

Q13a. Which of the following
claims, if any, do you think are
correct? ...An independent Correct 325 148 177 33 54 61 40 62 74 15 291 19
Scotland would become 40% 39% 41% 37% 35% 44% 44% 37% 43% 5% 76% 12%
financially worse off than the
rest of the UK

Don't know 186 83 103 22 40 22 24 46 33 35 62 89
23% 22% 24% 24% 25% 15% 26% 28% 19% 12% 16% 58%

Q13a. Which of the following

claims, if any, do you think are
correct? ...North Sea oil Correct 372 182 190 40 76 67 40 71 79 82 224 65
revenues are running out 46% 47% 44% 44% 49% 48% 43% 43% 45% 29% 59% 42%

Don't know 146 50 96 22 18 9 33 29 33 28 73 45
18% 13% 22% 24% 12% 7% 37% 17% 19% 10% 19% 29%

Q13a. Which of the following
claims, if any, do you think are

correct? ...Independence would Correct 396 193 203 46 70 77 39 78 86 71 291 34
cost Scotland many defence 50% 25% 76% 22%
Don't know 46 59 75 92

28% 23% 32% 25% 25% 19% 38% 34% 26% 21% 20% 60%
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Base: 817 Total Q1. Please select your gender. Gender x Age Q8. Do you agree that Scotland should be an
indenendent countrv?
Male Female Male x 18-34 Male x 35-54 Male x 55+ Female x 18-34 Female x 35-54  Female x 55+ Yes, I agree No, I do not agree Undecided
Total 817 385 432 91 156 139 91 167 174 281 382 153
(825) (401) (424) (90) (167) (144) (105) (171) (148) (263) (413) (148)

Q13a. Which of the following

claims, if any, do you think are
correct? ...If an independent  Correct 327 173 154 42 66 65 40 49 65 83 207
Scotland was able to keep the 40% 45% 36% 46% 42% 47% 44% 29% 38% 30% 54%
pound in a sterling zone with
the rest of the UK, it would

have little say over interest Don't know 282 103 179 29 35 39 40 77 62 75 114
rates and public spending levels 34% 27% 41% 32% 23% 28% 44% 46% 35% 27% 30%
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Q13a. Which of the following
claims, if any, do you think are
correct? ...An independent
Scotland would not be allowed
to be a member of NATO unless
it agreed to allow nuclear
weapons in its territory Don't know

Correct 229 110 119 16 55 39 23 54 52 143
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Q13b. Assuming for a moment
that each statement was
accurate, what effect, if any, 5 - Much more likely to vote for 150
would that have on the way you independence 18%
would vote in the referendum?
...An independent Scotland
would not automatically
become a member of the
European Union
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Mean score

Q13b. Assuming for a moment
that each statement was
accurate, what effect, if any, 5 - Much more likely to vote for
would that have on the way you independence
would vote in the referendum?
...An independent Scotland
would have to join the Euro,
the European single currency,
rather than be allowed to keep
the pound
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Q13b. Assuming for a moment
that each statement was
accurate, what effect, if any, 5 - Much more likely to vote for
would that have on the way you independence
would vote in the referendum?
...Independence would cost
Scotland many defence jobs 3 203 83 120 11 32 41 23 57 40 92 52
25% 22% 28% 12% 20% 29% 25% 34% 23% 33% 14%
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Base: 817 Total Q1. Please select your gender. Gender x Age Q8. Do you agree that Scotland should be an
indenendent countrv?
Male Female Male x 18-34 Male x 35-54 Male x 55+ Female x 18-34 Female x 35-54 Female x 55+ Yes, I agree No, I do not agree Undecided
Total 817 385 432 91 156 139 91 167 174 281 382 153
(825) (401) (424) (90) (167) (144) (105) (171) (148) (263) (413) (148)
1 - Much less likely to vote for 284 125 158 27 46 52 36 53 70 12 250 21
independence 35% 33% 37% 30% 29% 38% 39% 32% 40% 4% 65% 14%
(Don’t know / couldn't say) 100 47 53 14 19 14 8 26 20 38 22 40
12% 12% 12% 16% 12% 10% 8% 15% 11% 14% 6% 26%
Mean score 2.4 2.4 2.3 2.4 2.6 2.3 2.1 2.3 2.4 3.6 1.5 2.5
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Q13b. Assuming for a moment
that each statement was
accurate, what effect, if any, 5 - Much more likely to vote for
would that have on the way you independence
would vote in the referendum?
...If an independent Scotland
was able to keep the pound ina 3 210 96 115 18 40 38 21 54 39 97 66 47
sterling zone with the rest of
the UK, it would have little say
over interest rates and public
spending levels

1 - Much less likely to vote for
independence

Mean score

Q13b. Assuming for a moment
that each statement was
accurate, what effect, if any, 5 - Much more likely to vote for 110
would that have on the way you independence 13%
would vote in the referendum?
...An independent Scotland
would not be allowed to be a
member of NATO unless it
agreed to allow nuclear
weapons in its territory
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Q14. What is YOUR current
working status?

Employed - full time
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Q15. Social Grading
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Q16. Is the home you live in

Owned / being bought on a 559 267 292 48 119 100 62 112 117 163 301
mortgage 68% 69% 67% 53% 76% 72% 68% 67% 67% 58% 79%
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Rented from a private landlord

6% 5% 6% 13% 4% 2% 14% 4% 4% 6% 4%
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